WASHER PLATES & 1/2° DIA JAM NUTS

v s

7 ]
\CELINGT\LE orp — | Az H\ [N
PER ARCH

(2) 6" LONG SECTIONS OF
UNISTRUT P1000 BOLTED TO
TOP OF SPEAKER BRACKET w/
(2) 174" DIA BOLTS w/ WASHERS

/AND DOUBLE NUTS

CEILING SPEAKER
PER ARCH

I

m
r4
o

<
m
2

NOTES:

1

AIRCRAFT GABLE ATTACHED TO
EYEBOLT w/ ACCESSORIES &
CCONNECTORS AS REQ'D TO
DEVELOP STRENGTH OF CABLE

516" DIA. EYEBOLT IN
CENTER OF SUPPORT
BRACKET, PROVIDE WASHER
&NUT T&B OF BRACKET

GENERAL CONTRACTOR SHALL COORDINATE ALL SPEAKER

LOCATIONS, LIGHTING, ETC. w/ ARCH / MEP DRAWINGS.

»

THE MAXIMUM SPEAKER AND BRACKET WEIGHT ALLOWED

FOR THIS DETAIL IS 365 LBS. IF THE WEIGHT OF THE
EQUIPMENT RECEIVED EXCEEDS THIS WEIGHT, THE
INSTALLER AND GENERAL CONTRACTOR MUST CONTACT
THE ARCHITECT FOR A REVISED DETAIL.

(4)M10EYEB
/ ENGAGED IN

(4) 1/8" DIA 6X7 GALVANIZED & TINNED

2 4 5 6 7 8 9 13 14 15

i <
f N T
H ROOF STRUCTURE —|
i ABOVE | ™ D
] L%
i o =
i (2) P5000 UNISTRUTS <z
i z
H SPANNING 9-0"MAX | Ei g
i UNISTRUT P2786 BETWEEN EXISTING i z
i CLAMP EACH SDE UNISTRUT P1000 BOLTED TO STRUCTURAL STEEL |_— UNISTRUT P1000 BOLTED TO i <€ z
i (TYP) LOWER UNITSTRUTS w/ 1/2" SPANNING LOWER UNITSTRUTS w/ 1/2° ROOF STRUGTURE i z
i DIA BOLTS w/ WASHERS & MEMBERS DIABOLTS w/ WASHERS & ABOVE i E ~
il DOUBLE NUTS DOUBLE NUTS i =

il [ TS

7777777777777777777777777777777777777777 I i
i SHEET LEGEND
(2) 1/2° DIA A36 THREADED RODS, — | i [ —————
INSTALL INTO UPPER UNISTRUT MEMBERS w\ N T AT FITTNG i Mo ROGazas s s
1/2"DIA NUTS, JAM NUTS & WASHERS, | BOTTOM CHORD (TYP) e
INSTALL INTO LOWER UNITSTRUT MEMBERS |~ (2) P5000 UNISTRUTS SPANNING, g#) e s |
W/ 1/2" DIA UNISTRUT SPRING NUTS, PG062 T~ N 1/8" DIA 6x7 GALVANIZED & TINNED MAX BETWEEN EXISTING TR, Rottier e
STEEL SPANNING MEMBEJ

CELING TILE & GRI
ARCH

EXISTING ROOF/FLOOR —|
TRUCTURE ABOVE

(2)EA P5000 UNISTRUT
SPANNING 9-0" MAX BETWEEN
EXISTING STRUCTURAL STEEL

SPANNING MEMBERS

CEILING TILE & GRID /

S N LA LN LA LN L\ []

| L

PER ARCH

¢ o\

3. REFER TO 2/PLFS0.4 FOR UNISTRUT ATTACHMENT AT UNEVEN
ROOF STRUCTURE OR EXISTING DUCTWORK
INTERFERENCE.
/ 1"\ CEILING SUSPENDED SPEAKER - LEFT TO RIGHT STRUCTURE
LFs04/ N.T.S.
£ L
| H \ i |
H ROOF STRUCTURE
H ABOVE ROOF JOIST PER
3 / BUILDING EOR (TYP}
41 HIGH P5000 UNISTRUT
H SPANNING BTWN JOISTS " CANTILEVER MAX |
T t
UNISTRUT P1326 FITTING LLH w/ (1} 1/2" DIA x 15/16 HEX
HEAD BOLTS & CHANNEL NUTS @ EA SIDE OF EA JOIST
INSTALL FITTING TIGHT TO JOIST. ALTERNATIVELY "
TELESTRUT PROVIDE 2/8" DIA BOLT w/ NUT & WASHER PER TOP -
AT CONTRACTORS

P9000

CHORD ATTACHMENT SHOWN

UNISTRUT P2346 FITTING w/ 1/2" DIA x
15/16" HEX HEAD BOLTS & CHANNEL
NUTS IN UNISTRUT & (2} 1/2" DIA
THRU BOLTS IN TELESTRUT
GONNECTION

LOW P5000 UNI¥TRG
[ SPEAKER DETAILS T}

OPTION 1/2" DIA A36
THREADED ROD w/
MIN PL1/4x2"x2"
WASHERS @ EA SIDE
OF EA UNISTRUT N
LIEU OF TELESTRUT &
FITTING CONNECTION

(4) 1/8" DIA 6X7 GALVANIZED &
TINNED AIRCRAFT CABLE
ATTACHED TO M10 EYEBOLTS w/
ACCESSORIES & CONNECTORS
AS REQD TO DEVELOP
STRENGTH OF CABLES

(4) M10 EYEBOLTS
FULLY ENGAGED IN
CABINET INSERT

SUBWOOFER w/ (4)
M10 THREADED
INSERTS PER ARCH

SUBWOOFER wi/ (4)
M10 THREADED
INSERTS PER ARCH

B SRR e

905 MEMORIAL DRIVE SE
ATLANTA, GA 30316

AMC MADISON YARDS 8

American Multi-Cinema,

One AMC Way
11500 Ash Strest
Leawood, KS 66211

¥$ 3

REV | DATE | DESCRIPTION

NOTES: CRIGINAL I5SUE DATE: 05/2/2018
1. REFER TO OTHER SPEAKER ATTACHMENT DETALLS FOR EXISTING JOIST
ADDITIONAL NFORMATION NOT SHOWN. SER TO SPEAKER SUPPORT TOP CHORD EXISTING ROOF DECK NOTES: KEY PLAN:
2. ATTACH SPEAKER TO HIGH UNISTR! POSSBLE AND INFORMATION. 1. GENTERAL CONTRACTOR SHALL COORDINATE ALL SPEAKER
ELIMINATE LOW UNISTRUT ATTAC] LOCATIONS, LIGHTING, ETC. w/ ARCH / MEP DRAWINGS.
CHED TOAMNOF ¢ _A_  _A_ 1 2. THESE SPEAKER SUPPORT DETAILS ARE FOR NEW OR
I | EXISTING RELOCATED SPEAKERS
Lis2ioLBS. T 3. THE MAXIMUM SUBWOOFER AND BRACKET WEIGHT ALLOWED
FOR THIS DETAIL IS 210 LBS. IF THE WEIGHT OF THE
EQUIPMENT RECEIVED EXCEEDS THIS WEIGHT, THE
ATTACH UNISTRUT TO EA JOIST w/ 3/8" DIA INSTALLER AND GENERAL CONTRACTOR MUST CONTACT
MIN BOLT BETWEEN TOP CHORD ANGLES w/ UNISTRUT SPANNING THE ARCHITECT FOR A REVISED DETAIL.
HEX HEAD NUT & PL 3/16"x2" BETWEEN JOISTS PER
WASHER T&B . DO NOT PENETRATE JOIST OTHER DETAILS 4. REFER TO 2/PLFS0.4 FOR UNISTRUT ATTACHMENT AT UNEVEN
CHORD OR EXISTING DECK. INTENTIONALLY ROOF STRUCTURE OR EXISTING DUCTWORK
DAMAGE THREADS AFTER INSTALLATION INTERFERENCE. G
TO PREVENT LOOSENING. NORTH
TOP CHORD ATTACHMENT DETAIL SHEET TITLE:
TYPICAL
DETAILS
SHEET NUMBER:
/"2 UNISTRUT ALTERNATE ATTACHVENT DETAIL / 3"\ CEILING SUSPENDED SUBWOOFER SECTIONS PLFSO 4
W N.T.S.
2 6 | 7 8 9 12 13 | | 15 | 16

4 I




	Created with MetaPrint
	12 PLFS0.4.pdf

